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(Criteria5.2) =

17[f(x) = 10cosx — 4sinx|
‘Given that / (x) = Reos(x + a) where R = 0and as acute

i Find the value of R and the value of .
ii.  Hence solve the equations
10cosx — 4sinx =10 for 0 = x < 360° (answers to 2 decimal places)
iii.  Write down the minimum value of 10cosx — 4sinx
iv.  Find,to2 decimal places, the smallest possible value of x for which this minimum
value occurs

(Criterias.3, 5.4, 5.5)

18. Asmoke alarm emits a loud oscillating signal when activated. The signal comes from two
speakers, 4 and B. The volume from the firstis given by V; = 7cos12t, and from the second
By.Vs = 6sin12t. For what percentage of the time s the total volume |V + V| greater
than 9 units?

19. In the expression sin2P +sin2Q +sin2R, P +Q +R

Show that
SIn2P + 5in2Q + sin2R = 4sinPsinQsink
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